MOTOPLASTIC, S.A. Tl +34 93 849 06 33
Pg.de la Ribera,29 -08403 Granollers (Barcelona) SPAIN
info @puig.tv info @puigusa.com
www.puig.tv www.puigusa.com

Y o 7/ 7

Racling Screerrs

CARENABRIS NAKED NEW GENFRATON SPORT PARA
WINDSHIE D NAKED NEW GENERATON SPORTFOR
WINDSCHUTZSCHEIBE TOURING NAKED NEW GENERATONFUR . -

TRIUMPH STREET TRIRKE

Ref.: 9999

o LS Ficil - Easy
. Med ia-

1 persona el
lpperson 20 min -
QTY  REE
1 / Cipula Screen 1 9999F H/W/NM3
\
2 o Soporte derecho (R) Right support (R) 1 SOPOR-2P-3-9999
3 ) Soporte izquierdo (L) Left support (L) 1 SOPOR-2P-3-9999
Ny’
4 @% Tornillo M5x30 @11 1SO 7380 M5x30 @11 screw ISO 7380 2 TORNEI7380-767
5 C@ Casquillo @8 x @14x10 08 x @14x10 arrowhead 2 CASQUI------586
6 @ Silentblock @12x@6x9 D12x@6x9 silentblock 4 AROPASACABLES-1
7 @b Casquillo con valona @12x(36,8x7,3 D12x(6,8x7,3 bush with fl ange 4 CASQUI-1A---750
8 Ey Trnillo M5x16 @11 ISO 7380 M5x16 @11 screw ISO 7380 4 TORNL17380-493
9 Q} Tapén M5 ISO7380 M5 ISO7380 screw cap 4 TAPON----—--- 85

Pg.1/3

Created by: www.ciandisseny.com



Py

Racling Screerrs

MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com
www.puig.tv www.puigusa.com

CARENABRIS NAKED NEW GENERATON SPORT PARA
WINDSHIELD NAKED NEW GENERATON SPORT FOR
WINDSCHUTZSCHEIBE TOURING NAKED NEW GENERATIONLFUR

TRIUMPH STREET.TRIBIUESE17-

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

DESMONTAIJE LADO IZQUIERDO

@\/7\

L5

LEFT SIDE DISASSEMBLY / &/

1

MONTAJE LADO IZQUIERDO
LEFT SIDE ASSEMBLY @

DESMONTAJE LADO DERECHO

RIGHT SIDE DISASSEMBLY

om

Created by: www.ciandissel

Te

Pg. 2/3




Py

Racling Screerrs

MOTOPLASTIC, S.A. Tel. +34 93 849 06 33
Pg. de la Ribera, 29 - 08403 Granollers (Barcelona) SPAIN
info@puig.tv info@puigusa.com
www.puig.tv www.puigusa.com

CARENABRIS NAKED NEW GENERATON SPORT PARA
WINDSHIELD NAKED NEW GENERATON SPORT FOR
WINDSCHUTZSCHEIBE TOURING NAKED NEW GENERATIONLFUR

TRIUMPH STREET TRIBUESS 17+

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

MONTAJE
ASSEMBLY @

MONTAJE
ASSEMBLY @

MONTAJE
ASSEMBLY @

Pg. 3/3

om

w.ciandissen

Created by: wwi



